











Inertia-gravity waves

$$\omega^2 = f^2 + c^2 k^2$$

$$i = \frac{\omega}{k} = \pm \sqrt{\left(c^2 + \frac{f^2}{k^2}\right)} = \pm c \sqrt{\left(1 + \frac{1}{L_R^2 k^2}\right)}$$

$$L_R = c/f \text{ is the Rossby radius of deformation}$$
The importance of inertial effects compared with gravitational effects is characterized by the size of the parameter $L_R^2 k^2$, i.e. by the wavelength of waves compared with the Rossby radius of deformation.







$$\partial_{t} u = -c^{2} \partial_{x} \eta$$

$$fu = -c^{2} \partial_{y} \eta$$

$$\partial_{t} \eta + \partial_{x} u = 0$$

$$\eta = F(x - ct, y) + G(x + ct, y)$$
Put $X = x - ct, Y = x + ct$

$$\partial_{x} u = -\partial_{t} \eta = c(\partial_{x} F - \partial_{x} G) = c(\partial_{x} F - \partial_{x} G)$$

Integrate
$$\partial_x u = c(\partial_x F - \partial_x G)$$

 $u = c(F - G)$
 $fu = -c^2 \partial_y \eta$
 $fu = -c^2 \partial_y \eta$
 $fctF - Gl = -c^2 [\partial_y F + \partial_y G]$
Since F and G are arbitrary functions
 $\partial_y F + (f/c)F = 0$ and $\partial_y G - (f/c)G = 0$

$$\partial_{y} F + (f/c) F = 0 \qquad \qquad F = F_{0}(X) e^{-fy/c}$$

$$\partial_{y} G - (f/c) G = 0 \qquad \qquad G = G_{0}(T) e^{fy/c} \qquad \qquad \text{if } y \to \infty$$

$$\eta = F_{0}(x - ct) e^{-fy/c}$$

$$u = cF_{0}(x - ct) e^{-fy/c}$$

$$u = cF_{0}(x - ct) e^{-fy/c}$$

$$F = F_{0}(x - ct) e^{-fy/c}$$



The solution

$$\eta = G_0(x + ct) e^{fy/c}$$

represents a trapped wave moving at speed c with the boundary on the right (left) in the Northern (Southern) Hemisphere when f > 0 (f < 0).



$$\partial_{t} [(\partial_{tt} v + f^{2} v) / c^{2} - (\partial_{xx} v + \partial_{yy} v)] - \beta \partial_{x} v = 0$$
Put $v = \hat{v}(y) \exp[i(kx - \omega t)]$

$$\stackrel{d^{2}\hat{v}}{dy^{2}} + \left[\frac{\omega^{2}}{c^{2}} - k^{2} - \frac{\beta k}{\omega} - \frac{\beta^{2} y^{2}}{c^{2}}\right] \hat{v} = 0$$
Scale the independent variables t, x, y, using the time scale $(\beta c)^{-\frac{1}{2}}$ and length scale $(c/\beta)^{\frac{1}{2}}$.
$$\stackrel{\bullet}{\leftarrow}$$
 the equatorial Rossby radius L_{E}
Scale $\omega = (c\beta)^{\frac{1}{2}}v$ and $k = \mu (c/\beta)^{-\frac{1}{2}}$.

Schrödinger's Wave Equation

$$\frac{d^2\hat{v}}{dy^2} + \left[v^2 - \mu^2 - \frac{\mu}{v} - y^2\right]\hat{v} = 0$$
Schrödinger's equation - arises in quantum mechanics
Solutions that are bounded as $y \to \pm \infty$ are possible only if
 $v^2 - \mu^2 - \mu v^{-1} = 2n + 1, (n = 0, 1, 2, ...)$
These solutions have the form of parabolic cylinder functions





The equatorial Kelvin Wave
$$\partial_t u = -c^2 \partial_x \eta$$

 $\beta y u = -c^2 \partial_y \eta$
 $\partial_t \eta + \partial_x u = 0$ cf $\partial_t u = -c^2 \partial_x \eta$
 $fu = -c^2 \partial_y \eta$
 $\partial_t \eta + \partial_x u = 0$ $\partial_t \eta = c^2 \partial_x \eta$ $\partial_t \eta = c^2 \partial_x \eta$ $\partial_t \eta = c^2 \partial_{xx} \eta$ $\eta = F(x - ct, y) + G(x + ct, y)$



The equatorial Kelvin wave

$$\eta(\mathbf{x}, \mathbf{y}, \mathbf{t}) = F_0(\mathbf{x} - \mathbf{ct})\exp(-\beta y^2 / 2\mathbf{c})$$
$$u(\mathbf{x}; \mathbf{y}, \mathbf{t}) = \mathbf{c} F_0(\mathbf{x} - \mathbf{ct})\exp(-\beta y^2 / 2\mathbf{c})$$
$$v(\mathbf{x}, \mathbf{y}, \mathbf{t}) = 0$$

- > The wave is an eastward propagating gravity wave that is trapped in the equatorial waveguide by Coriolis forces.
- > Note that it is nondispersive and has a meridional scale on the order of $L_E = (c/\beta)^{1/2}$.







$$\omega_{+} = \frac{1}{2} kc + \left[\frac{1}{4} k^{2} c^{2} + c\beta\right]^{\frac{1}{2}}$$

- an eastward propagating gravity wave

 $\omega_{-} = \frac{1}{2}kc - \left[\frac{1}{4}k^{2}c^{2} + c\beta\right]^{\frac{1}{2}}$ - a gravity wave if k is small - a Rossby wave if k is large

- > as $k \to 0$, $\omega \to -(c\beta)^{1/2}$, which agrees with the limit of the gravity wave solution.
- > as $k \to \infty$, $\omega \approx -\beta/k$, which agrees with the limit of the Rossby wave solution.
- > The solution n = 0 is called a mixed Rossby-gravity wave.
- The phase velocity of this mode can be either eastward or westward, but the group velocity is always eastward.







$$\begin{aligned} \textbf{Scale and put } y = L_E Y \begin{cases} \left(v^2 - \mu^2\right) \hat{u} = vY \, \hat{v} - \mu \frac{d\hat{v}}{dY} \\ \left(v^2 - \mu^2\right) \hat{\eta} = \mu Y \, \hat{v} - v \frac{d\hat{v}}{dY} \end{cases} \\ \textbf{Now} \qquad \hat{v}(Y) = \hat{v}_n = \exp(-\frac{1}{2}Y^2) H_n(Y) \\ \textbf{and} \qquad \frac{d\hat{v}}{dY} = -Y \, \hat{v}_n + \exp(-\frac{1}{2}Y^2) \frac{dH_n}{dY} \end{aligned} \\ \\ \textbf{Properties of the} \\ \textbf{Hermite polynomials} \begin{cases} \frac{dH_n}{dY} = 2n H_{n-1}(Y) \\ H_{n+1}(Y) = 2Y H_n(Y) - 2n H_{n-1}(Y) \end{cases} \end{aligned}$$

$$(v^{2} - \mu^{2})\hat{u}_{n} = \frac{1}{2}(v + \mu)\hat{v}_{n+1} + n(v - \mu)\hat{v}_{n-1}$$
$$(v^{2} - \mu^{2})\hat{\eta}_{n} = \frac{1}{2}(v + \mu)\hat{v}_{n+1} - n(v - \mu)\hat{v}_{n-1}$$









